78" Eigenvector
1
Ne = 3 s = 5

Irred. Representation : I'y 3

Ery = % (= + 3t +2U + 14W — 2cos (604) /45 )
Wrs) = 13,5 5:Tas)
= Crsq (/002u) — [00u2) — [02u0) + |0u20) + [200u) + [2u00) — |u002) — [u200))
4+ Chs (1020u) + [0u02) — [20u0) — |u020))
+ O3 (|0duu) — |Ouud) + |dOuu) — |duu0) — |u0du) — |udOu) + |uudd) + |uud0))
Cog 1 = t(J—4t+U —2W + 2cos (04) VA5)
2v/2
Coay — t(J+12t + U — 2W + 2cos (04) /As)
3v2
—15t2 — 5Ut — U2 + J(t + 2U + 8W)
Crs—3 =
6v/2
N (A%Q + 6(4J — 13t — 10U — 32W)W + 6(t + 2U + 8W) cos (6,) \/A_5>
18v/2

Nzg = 2\/20728,1 +C% 5 +2C3% 5



